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® 13ha=130a
® 5.6km? = 5600 ha

® 8.5km? = 850000 m?

@)1.8km? = 18000 a

@ 92000a = 92ha

B

@ 13ha = 1300a

@ 5.6km? = 560 ha

@ 92000a = 920 ha

® 8.5km? = 8500000 m?
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® 0.21ha @ 3000 cm x 45 m

® 5800a @ 1.43km?

@1.41 km?

B

T 2o w92 1A A vt
@©0.21 ha = 2100 m?

@3000cm x 45m = 30m X 45m = 1350 m?
®5800a = 580000 m?

@®1.43km? = 1430000 m?

®1.41 km? = 1410000 m?
@>0>0>0>0




@ 540g°] 10000H]+= 5.4 tJUTh.
@350 kg+4.7 t=820kg

® 570000¢g + 0.043t = 613 kg

@ 5kg°] 100081 5t Yt

® 420kg 9] 100 v 42t YU Th

@350kg + 4.7t = 350 kg + 4700 kg = 5050 kg
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665 1
H5H+28 = — _
66.5+28 = o X o
665 665 1
O 100 7%= 100X
665 1
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10. e de A7t oo] B t7ha) A w, Fo] A%
B 227 #4922 o] 1A FHHA L,

D 48.08+8 @ 2.85+3 @72.8 +14
@ 162+6 ® 72.8+8

B

@ 48.08 + 8 = 6.01
@ 2.85+3 =095
® 72.8+14=52
@ 1.62+6=0.27
®728+8=09.1
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46 + 16
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46 + 16 2] A4t A 0-& 3™ W& Al4totd &2 2.875 Y Th
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B % 3032 Apolell i A% ol AU

O 3.563 @3.547 ® 3.374

@ 3.295

® 3.108
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(2+3)x 0.8 +2 = 2km? = 200 ha
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> HE D 144cm
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A2t E o] Al 2E o(cem) 2HaL 5HH
7t2E 4 x o(em) dYTh
A2 o] 7t2 9t A= ] 2
90 + 2 = 45 (cm) ]2l

o] AL A2 2] 5 vt Z5H T
w2t (A2) =45+5 =9 (cm)
(7}2) =9 x4 = 36 (cm)
Xzt 9] 712 9] Aol
AR gt Ho| Hojgt Fop g
BArZER 9] 3t o] 36 cmo| 1L,
E8E 36 x4 = 144 (cm) YUYt
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3.3+14=0.2357---

[ 2
> e 0.24

a4 AR Aol A AT
a4 AR A7t 50| B
&3 5o 0.247F HUth




19.

ZAol7F 38 mel == 2] FZof 28 71<]
Ao o gt ZHa} I Ato]o] A= oF I
oh=7] WhERste] A B4 A42|71A] kAL, (¢ 0.666 - —

IS A SR B e

A2 =
m= 3f

=

B

= 2] o] 28 79] S

>,\l

=
12

=

r\l

137e 4y,

),\l

°F9292m

1

19he 2 B, 147]9) 2 ZAEE 2t ukajo] o

=
el
Vot 7k Apo] o] 7hA ¢ 38 + 13 = 2.923 -+ (m)

Zong =29 F= 14719




iy
T
<l
s
ral
oju
Ho
m.o
o i
o A
)A
I
T+
X =
z e
. ‘8
<
il vy
N T
A e
.
S o))
M~ ME
o o
K o
=

H

40000 m?

P

ul
K0

.I

>

4 ha = 40000 m?
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22. e <H7|> 9 Qoo o7t
F 3 &E& 7P A BEE £

AL

T BF 25y ofdlY] Ui
52 71 2 MEE o] 4E

TSHAL L.
3
@ O=225 © O+ 12
©o+21 @ O=+1.357
25
» =
> =g 3.637
OE 12 Y32 W, Yt 71 ¥ 52 &A 51, UrEe
27h Zow 2o 274 Pk, 1% 1.375, 2% _ 298, 5]
2 EAYE YA 1.357 > 1.375 > 2.25 > 2.28
1.357 + 2.28 = 3.637
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o]&ol= AHAR 4.8kmE 7= d] 80| A1, telol= EYHE
FOo|ERZ 33kmE 7h= d 620] ATty YT} F Atgo] e
2o e dreko 2 E4Hsle] 142 ot dethd 7 2 kmE
o 7] oA L

> =

» £ km

> e o]& e o]&9]

> = 0.7km

o|&o)7t 18 53 ZF At 4.8+ 8 = 0.6(km)
o]&o]7} 142 F<H 2F A 1 0.6 x 14 = 8.4(km)
ttAol7 12 5 2+ A9 1 3.3+ 6 =0.55(km)
ttAol7t 147 B9t 7F A7 1 0.55 + 14 = 7.7(km)

mhetA], o]&ol7} 8.4 - 7.7 = 0.7(km) © ZtEUth
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AFE L e 20 ol [em 28 (1204200)x |+2 =
28800 ,

[ ]=180(m)
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28800 + 2 = 14400( m?)
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(120 +[ ) x 180 + 2 = 14400 ,

A =40(m)
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PO RA7} 5kg 9 HEWA mepe] Bele kgt 2o FHOR
worgUth GEA M7 HHE o) B NEE 2 K] BAE
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S W 2x2 =4(7),
AAH 3x3=9

o] g2l o 2 ot

IR A7t2] o] £ Ao T

144494 16+254 36449 + 64 + 81 +100 + 121 + 144
=650(7) o] 2=

(8 AA 9] FA)= 650 x 5 = 3250( kg)

w2t 3250kg = 3.25 ¢




